Vv, =V, ta.t
Ax=v,t+Lta t® g=9.80 m/s* down
vi=vl +2a, Ax

XF e L= =
=— ; XF=ma;F,=-F, ;weight W =mg;
m

(<1}

W =(Fcos@)d; K=1mv’*; U, =mgy
w

P =—=F0v;centrip. a,, =V’ /R; f., =mv’ / R;
t

impulse I = FaVAt =Ap; p=mv;
2y 2xr

G(inradians):ﬁ; v:—;T:— f=1T
r T

t=rFsind; L=Iw; [::rxp:lp:mrvsinﬁ;
I =MR* thin cylindrical shell 1 =1MR* solid disk _
I =2MR* thinspherical shell’ I =2MR* solid sphere’

—GM m 3/2
F,=— 2" G667x10 NP kg% U ="M it p= [Ms 27
! r r GM

2
Kepler: T° = 4z r
GM
SHM 27f = w = \F :——27z\/7 f—lzi\/z; T=2x £;
T 27 \m g
v:iz/lf;v:wf—F ;;v=343m/s;[:£;1: Pz;
T m/L A 47

T, =T-27315; T, =2T. +32; T, =5(T, —=32); AL=al AT ; L—L, =alL,(T -T,);

1 cal =4.186 J; spec. heatc—L 0= kAﬂr P = cdeT*
mAT’ L

Wenv _|Qh|_|Qc| 1 |Q |

Wenv:|Q | |Q | - S k ln
' 10, | 1O, | 10, |
szew, k, =8.99x10°N -m*>/C> E=Flq,, E:ke@, flux @, =E Acosd
r r
2
1289 gAY Ay Z IR, power @ =iV =1'R =BV
At I R

For spherical mirrors and thin lenses, M = L1 = =4 , L + .1 .
ho do do di f
wave: c= fA, c=3.00x10*m/s  energy: E =mc’



